201 \$2.5 wante as fly(x1) 1 y = V1 + YX Letf (u)= 34 y'= = (4x+1)-43(4) 9 (x)=4x+1 y = tan(Tx) f(y) = tan yy'= (sec2(1Tx))(1T) g(x)= TX P(u)= V4 = u =  $y = \sqrt{s \lambda x} = (s \lambda x)^{\frac{1}{2}}$ g (x) = sil x y'= (= (= (swx) - =) (cosx) Find the demakine  $F(x) = (x^{4+3}x^{2} + 2)^{5}$ F (x)= (5(x4+3x2-2)) (4x3+6x)  $5 F(x) = \sqrt{-2x+1} = (-2x+1)^{\frac{1}{2}}$  $F'(x) = \pm (-2x+1)^{-\frac{1}{2}}(-2)$  $(2) = \frac{1}{2^{2}+1} = (2^{2}+1)^{-\frac{1}{2}}$ My -1/2 power should be -1 power.  $f'(2) = -\frac{1}{2}(2^2+1)^{-\frac{3}{2}}(22)$ What was I thinking? Thanks, Greg Rupp. This one is poorly posed, because it's not clear which is K the variable with respect to which we're differentiating. Author assumes it's x. By=xsec(Kx) ->y'= 1sec(Kx) +x(sec(Kx)tom(x))(K)

$$9$$
  $f(x) = (2x-3)^4 (x^2+x+1)^5 = -$ 

$$f'(x) = (4(2x-3)^{3}(2))(x^{2}+x+1)^{5} + (2x-3)^{4}(5(x^{2}+x+1)^{4})(2x+1)^{5}$$

$$f'(x) = (4(2x-3)^{3}(2))(x^{2}+x+1)^{5} + (2x-3)^{4}(5(x^{2}+x+1)^{4})(2x+1)^{5}$$

$$y = \left(\frac{x^2 + 1}{x^2 + 1}\right)^{\frac{3}{2}}$$

$$y' = 3\left(\frac{x^2+1}{x^2-1}\right)^2\left(\frac{2x(x^2-1)-(x^2+1)(2x)}{(x^2+1)^2}\right)$$

$$y' = (\cos(x\cos x))(\cos x - x \sin x)$$

$$\begin{array}{c|c} \hline 13 & \hline \\ \hline \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \\ \hline \end{array} \begin{array}{c} \hline \end{array} \begin{array}{c} \hline \\ \hline \end{array} \end{array} \begin{array}{c} \hline \end{array} \begin{array}{c} \hline \\ \hline \end{array} \begin{array}{c} \hline \\ \hline \end{array} \end{array} \begin{array}{c} \hline \end{array} \begin{array}{c} \hline \\ \hline \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \hline \\ \end{array} \end{array} \begin{array}{c} \hline \end{array} \begin{array}{c} \hline \\ \end{array} \end{array} \begin{array}{c} \hline \\ \end{array} \end{array} \begin{array}{c} \hline \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \hline \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \\ \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \hline \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \\ \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \\ \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \\ \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \\ \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \\ \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \\ \end{array} \end{array} \begin{array}{c} \\ \end{array} \end{array} \begin{array}{c} \hline \end{array} \end{array} \begin{array}{c} \\ \end{array} \end{array} \begin{array}{c}$$

201 
$$5^{\prime}2.5$$
 $y = \sqrt{r^{2}+1} = r(r^{2}+1)^{-\frac{1}{2}}$ 
 $y' = \left((r^{2}+1)^{-\frac{1}{2}} + r(-\frac{1}{2}(r^{2}+1)^{-\frac{1}{2}})(2r)\right)$ 
 $y' = \left(\cos(\sqrt{x^{2}+1}) + r(-\frac{1}{2}(r^{2}+1)^{-\frac{1}{2}})(2r)\right)$ 
 $y' = \cos(\sqrt{x^{2}+1}) + r(-\frac{1}{2}(r^{2}+1)^{-\frac{1}{2}})(2r)$ 
 $y' = \cos(\sqrt{x^{2}+1}) + r(-\frac{1}{2}(r^{2}+1)^{-\frac{1}{2}}$ 
 $y' = \cos(\sqrt{x^{2}+1}) + r(-\frac{1}{2}(r^{2}+1)^{-\frac{1}{2}})(2r)$ 

```
201 S 2.545
 (5) (b) Illustrate w/graph
(See Notes)
  (18) If g is twice -clifb and P(x)=xg (x2),
    Pard P" is ferme of 9,91,9" 5
    f'(x) = g(x^2) + x g'(x^2)(2x) = g(x^2) + 2x^2g'(x^2)
    f"(x)= g'(x2)·2x + 4xg'(x2) + 2x2g"(x2)(2x)
         = (2xg'(x2) + 4xg'(x2) + 4x3g"(x2) (
 19) Fird D'03 cos(2x) by seeing the pathern.
   D'\cos(2x) = -2\sin(2x)
   02 cos (2x) = -4 cos (2x) = -2 cos (2x)
   D^{3}\cos(2x) = +89ich(x)
   D' cos (2x)= +16 cos(2x)
   D^{5}(\cos(2x)) = -32\cos(2x)
                             My guess 5
      103=100+3
```

of (mult. of 4)

+/2103 8 m (2x)